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CERTIFICATE IN TEACHING OF
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June, 2024
CTE-02 : THE STRUCTURE OF ENGLISH

Time : 2 Hours Maximum Marks : 100

Note : Attempt all questions. All questions carry

equal marks.

1.

2.

(a) Discuss the stylistic features of Indian

English. 10

(b) What do you understand by Indianization
of English ? Discuss briefly the factors that
led to the Indianization of English. 10

Write short notes on any two of the following :
10+10
(a) Coherence and Cohesion.

(b) English as a foreign language and a second

language.

(c) Features of a text.
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3. Write short notes on any four of the following :

(a)
(b)
(c)
(d)
(e)
4. (a)

(b)

(c)

4x5
Indefinite Pronoun
Negation
Compounding

Discourse

Syllable

Identify the root, prefix and suffix in the
following words : 5

(1) Decode
(11) International
(111) Misfire

(1v) Importance

(v) Misery

Write the comparative and superlative
form of the following words : 5
(1) Fast

(1) Bright
(i11) Proud
(iv) Slow
(v) Young

Give the plural form of the following
words : 5

(1) Duty



(d)

(a)

(b)
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(1) Calf
(111) Person
(iv) Foot
(v) Sheep

Given below are some answers. Form Wh-
questions corresponding to the italicized
parts therein : 5

(1) Shyam is very intelligent.

(11) The eraser is under the table.

(111) I go to sleep at night.

(iv) This is a pencil.

(v) Mary is my sister.

Mark the primary stress in the following
words : 5
(1) Present

(i1) Refund

(111) Increase

(iv) Decorate

(v) Emotion

Rewrite the sentences making correction
wherever necessary : 5

(i) Sharma has eaten breakfast an hour
ago.

(i1) One of my teachers live in our country.
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(111) Rishi goes to the college everyday.

(iv) The computers are very useful tools.
(v) The lead is very heavy.

Add question tags to the following : 5
(1) It isn’t the best decision, ............ ?

(1) The teacher is in the class, ............ ?
(111) You know her very well, ............ ?

(1v) They are our relatives, ............ ?

(v) Sheela is from a rich family, ............ ?

Combine the following pairs of sentences

as directed : 5
(1) The boys went to the part. They did
not go to zoo. (Compound sentence)
(i1) Children like pizza. They Ilike
chocolates. (Compound sentence)

(i11) In rained for three days. So the streets
in my neighbourhood flooded.

(Simple sentence)

(iv) The examination ended. The students
went home. (Complex sentence)

(v) Idid not go to the meeting. I was sick.

(Complex sentence)



